BOHR
HEMBL AR
BRzEBE
KEERF
B

N

A

[ |
AT
P ]
= 11
—FH—I|-44?
m
P

m

_ﬂ_

BEEMRASR

RO EERE%-K

3R 2 H IR
BORAX
FEERN

3

=

E
=+-H

LR |

-t 1
+=AR

ZN

K&
TEn

56,443
11,282

67,725

33,863

101,588

Kt ig®
TET

108,663

108,663

(1,784)

106,879

REG
TERT

67,655

(37,003)

30,652

30,652

HhBEE28E65H Zffate

BE
Lot

TET

173

173

173

EREH
fit 1
TET

2,613

2,613

2,613

BE
LEe
TER

204

205

205

2RER
TET

(71,633)

10,337
(1

(61,297)

11,842

(49,455)

it
R

164,118
11,282

(37,003)
10,337

148,734

33,863
(1,784)
11,842

192,655



